= o
N & o & AF & H Al A
20179 & 20l A& LBHSI A AFSI A A HI XA ot
A A B Z M KA
M M HBHMIIBFRS
Sl ASHIMEN S4 (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
A2l = ZH X2 Dt 11,338,531 11,403,859 A 65,328
= 5,798,114
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= 525,962
Xl 2,376,609
< 362,194
Al 729,514
M HZHE=E 4 3,994,279 3,439,173 555,106
= 525,962
Xl 2,376,609
< 362,194
Al 729,514
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Xl 15,000
< 4,500
Al 10,500
307 21201 A 30,000 80,000 250,000
Xl 15,000
< 4,500
Al 10,500
02 IS AHE L 30,000 80,000 A 50,000
OitSJ1Y SHAY 30,000
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< 4,500
Al 10,500
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S 10,000
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OlSIIYDESALY 20,000
< 10,000
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SH: ASIHEH XD
mE: MAHZH E4

el AEZH - SRIM 2435 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
H| OXFA SEENLZA 29 150,000
HHE2HZ U (ALS M A M X & D) 280,597 250,607 29,990
Ol (AL X B M A& 1) 225,225 200,275 24,950
ol 2l (AFS & A R X2 1) 225,225 200,275 24,950
101 @124 Hl 225,225 200,275 24,950
01 2= 225,225 200,275 24,950
OAZIZESE 225,225
6= 10,6823 x14H «50A| 2t+ 128 89,729
o7 9,649% 15 «50Al 2t 12 86,841
03= 8,663& x5 «50Al 2tx 128 25,989
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